00000000 M/M/1
ooooooooon

O0O0O0Dors738B
goboobD od

20100 020 150



goooobod

1) make execute file
% ./mml_make.sh

2) execute file

% ./mml_do.sh
DDDDDDDDDDDDDDDDD(gnuplotDDDDDDDDDDDDD)DDDDDD
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3) delete execute file

% ./mml_clean.sh
gogooogoooogoooogboooogoooogoooogg
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README
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mml.h

3 #define NUM 10 // 0000000 D0OO0OCDOODOODO
000000000000 00ooooooooon

mm1l_average.c

e Average delay in queue(0 000 0O0)
e Average number of customers in the queue(J D000 0O)

e Efficiency of utilization of the server(0 000000000 00O)
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mml_clean.sh

gbogobobooboobboobuooboobbooboobooboooo

mm1l_do.sh
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mm1_for_gnuplot.c

000000000000 db gnuplotd00oooooooooonoooonog

24 usetime[i] = rand()¥%80 + 10;
rand()%80 + 100000000 modQO0010000001000000000000
goooooboooooooooooooooon

28 cometime[i] = cometime[i-1] + rand()%30 + 20;
rand()%30 + 200000000 mod 300002000000 1000000000000
goooooooooooooooooooo

mml_make.sh
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% ./mml_make.sh
% ./mml_do.sh
come 0, in 0, use 13, out 13
come 39, in 39, use 56, out 95
come 85, in 95, use 23, out 118
come 130, in 130, use 14, out 144
come 152, in 152, use 24, out 176
come 192, in 192, use 74, out 266
come 221, in 266, use 50, out 316
come 242, in 316, use 22, out 338
come 270, in 338, use 62, out 400
9 come 302, in 400, use 34, out 434
Average delay in queue(J O OOODO) : 99.350000
Average number of customers in the queue(D O OOOO) : 0.679724
Efficiency of utilization of the server(UUOOOD0ODOOOOOO) : 0.596774
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